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N 1L Allquestions ae compulsory subject to Interoal oholee. 7 o 0

2. All questions carry equal ks, | , { v s
“ g NN T E AL
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Q1 Attempt any two questions, a2 S o Alkd b O TN
A) What is project management? Explaln the objective of rojoul munagement. oo
B) Define organizational structure. Iixplain types olorgal zatlohal strdetre. - o e ) o
C) A Company is considering two mutually exoluslve projects The 'ﬁhhﬂm-‘-dlﬂmﬁ’nﬁmfwﬁtﬁr

the project with higher profitability Index should o choseh. Followlrg are the particulars of Both

the projects. i
Particulars VICRS). o | Praject N (RS). PR O
Cash out {low 1,00
Cash Inflow: s
Year | !
Year 11 | [25,00 O
Year 111 BT e = 3 L S e ' Q WAy
Year IV R L O T
Year V RIS Eh R
Wi b S o
Assume the companies tate'oftetutn i5.40%. 5
The present value of Rs,; 0% for 5 yeurs ure s
Year o0 ST @
5] S e s G908 &
SO 08260 s
'.-i"':sf IR LT 41.;7'r L -:-;N
A "‘\.;-1“':5 3\"" \*,_
Py ,.'-'_d..'l: 2\{[‘ g
ey .,z’ﬁ‘

. Defie project obsibuLy? Ey Luio seope of project feasibility.

siblity? Explai scope of pro
ercel I project management, Lo
n yariogs operdtional strategis. o

Amount
3,60,000
20 per unit
72,000
6000
40,000




Q.P. Code : 31922' '

Q.3 C) From the following Information of Eagle Ltd calculate the value ;tf af aqulty shmg
1000 10% Preference shares of Rs 100 each | Rg 100,000 =~ =~
20,000 Equity shares of Rs 10 each fully paid | R§ 200,000, 0 = =~ . ;
Eamning before tax Rs ],10,012}_0.'.' j g
Rate of tax e A A E
Transfer to general reserve it s PR vl
| Normal Rate of Earning (SR S L e ars

Q.4  Attempt any two questions. PR 5 '
A) Write a note on Continues Improvement o AR S
B) Discuss in detail cﬁmputensed project management qurrnatmrt SYngDl {PM}S)
C) What are the steps involved in termination t‘:ﬂ" a pm_]z;:b‘? ;

Q.5 Case Study:-
: Dove Ltd propose to set up a naw plantxat ’[bane fqr pfogesmng fhc mdusmaifwaste into a

@ marketable products. The product has ad‘éman&fpﬂﬁﬂ Gﬂﬂmﬂtﬁh R Pl lb
The processing cist includes Varla"ble cost'] “‘s~9 p¢ uni “ﬁt{;ﬂ,iﬁx?dr'; oTok {Eﬁdﬁdihﬁ depmemﬁm

i

Rs 50,000 p.a. Advertisement cxﬁsnses.ére: al;a? ex] wfa&tdh&“%ﬁ@%ﬁﬂ&ﬁ, -
The product can be sold at Rs. 30 nef‘,nmt‘ ;R&W mgﬁmal ngﬂtgls.aﬂﬁﬂqfé at Rs 3. perum:.

The Capital investment is R3,:24;:00, ,000: flfﬂe; Comp yhﬂmpﬁli:e&‘toﬁml@ofﬂm fora loan
of Rs. 18, 00,000 for a term of Gggms which is (l_;fe_ﬁﬁhé assets tLi;rmrs. repayable in 6 equal
instalments along w;thlhterest aj{"lfhﬁ end: @ﬁeﬁch y,e
Rate of Interest 10%: p'
Income tax rate is. S{Ma
You are required 10z T o

1) Give Income ajtatemﬁntfwr the: ”fgﬁj.@ .y

T

2) Calculate thw&abt,sc;ﬂc& ﬁmvﬁrﬂﬁeﬂ;

v e

3) Amortu:atldn wﬁeduke f yﬁpaﬁm enta \I(;“

X

P
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[Time: 2 5 Hours]

2. Figures to the right indicate fuILlriaj'kﬁ c
3. All working notes will be part.of fﬁean&wer} 3

re

against the receivables purchased from Shahl Trae'féns L’tap'iihe faatorlng,agr&Emenrwoﬂdéﬁﬁ: ;
advance payment of 75% of the value of factoretirawewahiest-fgr gu*ara ntéeﬁ\payme nbaﬁiem S’mOﬁths
from the date of purchasing the receivables. - : = o
The advance carries a rate of interest uFAG»EE% p mmm‘auumﬁqqaaéy v ang tﬁe“factéﬁng’“

commission is 1.75% of the value of factqre;i @csw:@hléi;ﬁafh’tﬁemter&si
collected upfront. e bl

n._'\""‘ "‘.‘f.-‘

2) Compute the effective cost of fu n‘ﬂmde*aya:fabie to. Shah 'Fta]‘.[e'rs t%d’*?

3) Assume that the interest is wl’l(zcted i Jar{ealas aﬁithe@mmgsid;ﬁs Dﬂecteg Jﬁ"advance
Calculate the effective cost of fqus made quifﬁble\g)ﬁshahf‘r diem Lt NS

c) What is Discounting of b||| ? Expl@ntﬁa*tkbéfﬁf—‘i;ﬁ dlsétlun\‘llng’ 3_1_!_ 2

Rt

15
a) Whatis the role of uqderﬁ.gﬂtér. G
b) Describe the varnouﬁ&'@ggﬁﬂpmlﬁé{hqt}:pm@m@ d?’sé‘a@'nﬁ “‘
c) Write anote on r'Eng’ﬁ‘ﬂ)f'ﬁf} pf.; feicals 2
Q.3 Answer any two fmm*th fml]p\e{lﬁg ; : o 15
a) i i
b) Briefly d@gusswan > Ita“] tnuesnﬁe;nt{p(@hgs x
¢} Onlst hpﬁlkzu;tﬁ\lag;méhd;r\ﬁf‘ @*;el;rgie‘%[a mach'iu“je from. SSC Ltd on hire purchase basis. The cash
price:of the maghmemsﬁs@;ﬂﬂ; gp‘afmpﬁfmsto be made Rs.1,00,000 on the date of
agl'eement,and the'b 31an€ETn,ﬁJEr§ann 1 stg]!,rﬁent of Rs. 1,00,000 plus interest at 8% per annum
aysah; 31t I;Segem‘he:r e;achy rfhﬁhg»ﬁrgtdnst’aln?ent being payable on 31* Dec’ 2015.
% grepar‘e*yaﬁhmeh?@aud %ﬁ“btd a,f c fu :the booksof Laxman Ltd. assuming that the account are
b xgﬂsed\ﬂm3 1 Dec ber every, yedr and de %‘aﬁlon at 10% p.a is charged on the original cost.
SJ: S Pl e
q 4, ,Answea;@nﬂg.rwqﬂgﬁefﬂl 15
15

) Sﬂ!dw S

o M;*Prgﬁashﬁarqﬁahlg‘afrtaklt(g i'llS salgr\_.' in cash from his employer. He has saved an amount of Rs 2.5 Lakhs
;u;ger thé ,Egg,snmqm;hsme‘mak“e‘%allﬁls payments by cash. However the new demonetisation move by the

nﬁemtaeriﬁkhqs affected rﬁi‘ r@raﬂia’sh as all his savings is of denominations of Rs, 500 and Rs. 1000. He is >

.-.:u@njng uj_ﬂf cashiﬂgmgethg.;’ dallv expenses like medicines, grocery etc. He approaches his bank to seek o

aﬂ‘d%gl’iswoe as to whmh»type of plastic money should he opt for. While talking to the banker, he informs 4

fumhﬁfrqegivpgamnfﬁlﬁafaw of Rs. 40,000 and is eager to avail a plastic money application.

S
X ai -ESS]I;{H
\."‘t'—_‘\
; ..\
e 5

q_‘y.qn:ge@faS a banker and offer him a type of card. Justify your answer.
rﬁlstﬂ_ﬁ;h&mehts of the offered card.

’e, _-,gﬁaut’uons to be taken for usage of the card.

3A43CT8EF12A14F33912714CDB23C4RE
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“Q.P:Code:31330
Time- 2 % Hours : ",‘ Marks75s
N.B: All questions are compulsory with internal ch':di'?lr;;(;'_f\

Figures to the right indicates full marks. =~ =

Q.1 Attempt Any Two (7.5 marks each) 7 o £ S 15 -

ks Explain the features of Brettonwoods System.

2 Distinguish between Fixed and Flexible Exchange _'qaié;Systém.,, =
3. USD/SGD=1.5430/35 b SALF
SGD/GBP=0.3340/42 M ;

1. Calculate the percentage spread on: the“USB?S‘GD“Rate L
2. Calculate the pe rcentage spfeai@mthe SGD]‘GBP‘RQﬁE_\ i

‘| Forward 3 months
45.0600
79.0200
38.7000

Spatﬂa;e -_'_
UsD:» . - _' S dade3ss Sl
GHE - [/38.3525 0 ¢ 0T 50%

Currem:y

2 USD}@QGPMRQT& TQEW'SG?

. QAB Ente.rest BQ?E 1 125.0% pa |

L USD Inter,est Rate 0 315@% P a

| Caltulate 73 daysﬂ&pjeﬂ@ ﬁate_.. 2

TS Exp{atn the: term PpgTheory

e <
- - e -~ e S
2, - 3 o

Tl fqa A@tefnpt a‘anwn {T.s Marks Each) L=
SIELT L__ : What 1;-:. Eurcr *Eurnds,‘P What are its t\,rpes?
B S e O !

' 75 'What is ADPC? What are its Types?

A - 3 'Distlnguisﬁ hnetwaen FERA and FEMA

e T Page 10f2
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Q.4 Attempt Any Two (7.5 Marks Each) AR 15
1. What is hedging? Explain the Techniques of hedging. ” '
2, What is Project Appralsal? Explain the process of Project Ap\p’ra[;,'\‘é;_‘ : =
3. BANKA USD/CAD 1.0293/03 EA
BANK B USD/CAD 1.0275/85 Identify and Calculate: ;ﬂrbatraga @pportuﬁmr (mso calculate .

Gain for 1 million Investment in case of Arbitragq]

o 15

Q.5. A. Case Study.

India led other emerging markets in drawing cﬂ'e\f as-furldsT’w its ﬂlu*tres i1"“'\"”“"3"' 2913 "Y"h
foreign investors buying $2.06 billion of local ,s'tm:k In the munth ihwhltﬁ Bﬁhdha“ Hank 3"“1 iClCI

L

Securities sold their shares locally for the ﬂrst tima o -. et :- —_ 1>

(&

“Rising Interest rates by the USaFedaral Resew cou]d disturg.ihe FP]‘TIawﬂntd'the\emerging
ekegf]tma VP —straf“ég? Kuﬂik@er‘:u rltlesf e L

et

“Against this back gmund Jndm ﬂegds dqr‘nesgelcﬂaws ied b\\,rSLF‘s {swtematlnlnvestment Plans) to
sustain in the coming mgnxhs"- gour qprnlorf, marke'ts in: FY2019 a‘re Exbaeted to be more volatile

than in FY2018.

Answer the Foilomng b‘&s,eﬂ on the aho\rg\{;gsg Stuﬂ?' (2 Marks Eau:h) 10

1, What is FDI? Dlstmgurs“h t&“ﬁ;om#[} 5 :."}.:‘- e

2. How mdfa led othei' em‘e?ging markets ininvqs;mqnt In Indian equities?

.

3. What*are"’fhe 'fastt:-rs W'hll'_‘h ‘affeut Flﬂ flﬂws to éfmerging markets?

._"4 Wha’t aré'tﬁe’ disadvan;ages quPJ? : '_ K

'._f.J i

; ._I,-l’s A&parrthe,aﬁwetase ‘.Piﬁhalhére the future trends and strategies suggested for Indian Market?

e

: e Q;g, qy sp'm;;]tatg USD/SEK &5340 ;
: 05

3 mﬁhths fﬁmratd Rate ﬁpEGSF Calculate AFM and Inte rpret the Results

= ‘\
7] I T aret iy
\ - .

S o

L e Page 2 of 2
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SQr Code: 31435
Dere oy Bk QAN 020 13

Time: 2:30 Hours . _ il : Mnrks 75
Notes: 1. Figure to right indicates marks AT T

Q1. Answer the following (any 2) (15)

a. What is risk and explain types of risk? : ‘ ] At ;

b. Explain investment strategies in detail. *H ::- il i ._ "';; =

c. The following particulars are furnished about Mutuni fﬁun& Séharrfes,P‘ Q aﬁd,R

| Particulars Scheme P ’ 'Sﬂ]eﬁlﬁ‘(} :4 ?’:‘_’, _ :
Dividend Distributed | Rs.1.75 - P AT e

Capital appreciation Rs.2.97
: Opening NAV Rs.32
. Beta 1.46

Ascertain the Alpha of the three sqlr&mc&@d evaluafe“;helt farmance,,lf gw&nment of India Bonds
carry an interest rate of 6.84% and:hc_?ﬂ?mhasmcregsed 12;11%

4 (15)
Q3. Answerﬂtﬁfqﬂowmg (im}’ 23 s (15)
b &‘EXp‘iﬁm Br-rreﬁtsof corpura'te*gpvcmaucaﬂ =

b Explam techn;qncs.w me@t ﬂakeholﬁsr s e}ipectat:on.
‘ c EXplmn chaﬂm@esofnsk asﬁu’fan@e, 3%
_ QA A’nswer—ﬂw fpilowmg (ﬂm;{ l) (15)
; a. Exp]m eiements and slgniﬁeance of insurance securitization,

“b EXplam Wpes 6fhfe msurance |

Page 1 of 2
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+
0
Find the Falr Premium It :

» Polley provides full coverage e
» Underwriting costs =12% of pure promiym ‘_ P
¢ Claims are paid at the end of year \5 o =
» Interest rate =5% Sale e
» Bxpeoted claim processing costs #Rg.}&t)ﬂ' S PO
«  Faiv profit = 3% of pure premium S il e L

Q.5.Calculate Beta for aaoh of the Mluwihw aﬁwﬂﬁu hnm th%'ﬁl ven

e K=
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Q.P. Code 31251
. [Time:2,3ll]

Please check whether you have got the right qmishun paper
N.B: |) All questions are compulsory

il) Figures to the right indicate full marks.

Iti)  Support your answer with smtablf: s){amplm v

Q.1 Answer any 2 questions from the following
a.  Explain the need of India Ethos ' o e
b. Differentiate between Indian management and western rhana’gEmeni 3
C. What are the management lessons !carnt from the Vedas?‘ : A

Q.2 Answer any 2 questions from the following S
4. What is the work ethos? Explain the lcvels nf wnrk eth
b. Discuss the values for Indian manger G

AR
: 5

c. Explain the impact of values on employees c_l;,s,lger_;}_a

Q.3 Answer any 2 questions the followmg GiEah 15
a. Explain the stress management techmques - 2o g
b. Differentiate between transactional and ttansfarmatlgnal‘lcadmhmw .
c. Explain the Saam, Daam Dand-and Bhsd thl;‘:m‘y of metlvai:l H G
Q.4 Answer any 2 questions from the fc—!]omng st "-_ L 15
a. Explain Gurukul system of learning and gwe its: f‘eatur&s
b. Explain the laws of karma -
"G Discuss how Indian ethos hclps in persona]rty dcvelopment
Q.5 Read the given case study and answer the questmns gwan be[ow 15

Sunil Power Tools isian. mdustnai establishment based in Belapur. It is owned by Mr.
Sunil Mishra, who is the. ‘managing: director ofthe company. The company is reputed for
it quality products. Mr. Ramakant is:a union leader of the company and also works on
machine operator, in. the production department. This department is looked after by Mr.
Soni, an cngmcer specialized in metallurgy. Since Mr. Ramakant is a union leader, he
could not give adequate attention to his job. He is egoistic and arrogant individual, Mr.
Soni is well natured individual with professional acumen. Due to Ramakant's negligent
attitude towards work a consignment of 50 twist drills made re:ady for dispatch were
delayed with major discrepancies in the item. Durmg inspection in tpe item, by the :
quality control inspector; it was found that 8 twist drills were defective, w_rhan questioned
by Mr. Soni, Ramakant was very rude and arrogant Mr. Soni made a detailed report and
submitted to the MD, the MD issued the charge sheet to Ramakant. Ramakant
approached the MD with an apology and requested his case to be consmered

sympathetically

Questions

tional culture?
. Do you think, Ramakant’s behavior will adversely affect organiza
; Qu.? pl:;ose you were the MD who has an understanding of Indian Ethos, what action would

you have taken on the apology of Mr. Ramakant?

o s o o o o o o o

£

el e W i g

20C706369D83FC6503EB4BDDIDI7S4ED







Q.P. c‘ada 31261

- wm,&n ’:.;
B The quamity of different products (i unite) produced by the workers per day ate-g
e RMOWRG wratrix m@"ﬁm m:s profit in Re. Per unit, Farmulate.a Profit Matrix and ﬂhﬂ'
S cpanal sxigmont of workens to produet which wiLL Kimize the mﬂlﬁwﬁ 3
thhyef :

N o e —— e i J ] ‘*'{:1.';". y

e = =k : R e , : :«,. LI
Amt 30 a0 . ‘ﬁg LN m‘: SET

1 L) A - )
i: = S e e e e T T T B0 O P
Rt | a8 To b S S o U S U
= “—-.m:_m-:-_ s == e e s ; '\. ,\. : i = : - ‘;:\-
~ <
= i"iﬂli — %-ﬁ et -——«- -\. . J
. > " % .‘\\_ﬁS‘. - \:
| ProftdmRs Per | 4 T

#
LBt T
£

| | S N ; \

} Usk - S SRR

i ® | 4. MRS
ez o =

@) There are 3 Factoties A, B, © aﬁdﬂm Matkeﬁ >N v ailei z. Sﬂm:@ aut@ Faetarias is ‘

S0, 30 and 83 units. Demand at the macket places is 78, 110 and 40 units: The supply

and Demand of units with unit cost wMasp&ntmtm ﬁn"ﬁﬁx} and-the schedule

Rollowed from Factories to Marketsare &imhamr (The-numbers which are shown in

circle indicates number qnm*:s mm{mma utqﬁgs to M"aﬂmts )

So s o (Cestin R&}
£ PR S SR AT S

Factories Pl ORI e S B LT

ol ; A |

by kL B o e
i - ot -~ PR b \:\\_
S - e B —— o
Ry N o S T o g e,
A T RGN ST e RO e
~ T Nl 3 bl o N 5,
R LGRS o - ! Saaiiih Oy | S w & I

Supply |
60 J

e
= X . ¥ o L-s-nn
L L™ ‘\\ N Ry - 2 nget b o~ \_“ \\ il
| SR e

R S e e - .

. ek oL v . 4 > . 1 2 - i

o A B b Tty L 2ol \T o I
SEN *-eim SR e 2 Ol
SR ST (R : b
= BRTE \, B 5 . O i 4 —— - ===\
‘ -‘Ci-‘ LR 2 i 133\5\”.\ B 18 ; . —
R 1 RN P e s ! Bt
By N . | 3 vz ]

o o o Al
5 ol & {* m R o e \
e . : L b 18
Deanm x'F-S NS TS T TSR Al
2 5 b g i e A S Yo =u
NSRS SRR R L el 40 225 i
syt a L

S ) S
‘JE Sﬁ;&# @i\g&n sa‘l‘uﬁm\m amimality and find optimal Transpuﬂatian 0

« . o 1) Find one Iﬁt}ﬁﬁwlmﬂi nl\armta Transportation sol
\f‘ﬁ}\ : ,; he Al h solution, 3
RS Mﬁmﬁﬁw siguificance of alternate/ multiple optimal ¢

N ST ¥




3 Q.P. Cade :-31261

] r i) Construct the network diagram and find out critical path & and pre_jeu’: compietmn 2.5
- time, ‘
i) Calculate Earliest Start Time, Earliest Fm:sh Time, Lumststat't tlme and Latcst ' -,0_44.,-' :
Finish Time for each activity., 3 A
TRl

ii1) Calculate Tail Slack and Head Slack for non GI‘lt,{Cdl actmtlgs

b) The data for a PERT network is given in the following table, The. pro_]ect manager ha& made’
following calculations of Average Expected Times from: Optimistic. time, most Tikely time
and pessimistic time for various activities of a pmject as wéll respeetcd standard Dewatmn
and the variance values, A i

Events Expected Time (tcj Sfandard‘Dﬁwatll T e Vanance “-
“_I : in weeks N A el i = “ [
1-2 SR '_: e P e _...Iii’&"".,,-'-‘-‘ :
= T T e D B9
. : 23 T T \1--_;-. s )
2-4 L6 A3 6/9
35 T 43 1609
4.6 Sgvr 3 e ST
56 475 VT RS SRS g
6.7 i o ey o ST 1
i) Construct. th; uetwork dlagram uof PERT network SRS 2.5
if) Identify Critical Path and find the expected complet -t:me of'the project. 01

iii) Find project: completmn time. f'qr 95%: ponﬁdenc&]evel
iv)  Ifthe ﬁxcﬂlﬂu&t of the ﬁrOJcct i5:Rs.30, 00,000/~ am:l the variable cost is Rs. 20, 000/-
per wﬁgk \Pmdnthg @mpqni: the “frm shemld bid uﬂdﬁr the policy of 95% conﬁdence 2
af ccnmpietzon of the ]jr@ject :(f'oratha purpos?a mf bld-:hng, consider only cost that is

§ "bmﬁk even 'tﬂai’rah mz:- loss and» no proﬁt)

c) Answer each -t[IJBS‘l’l_O

i) - Whatare epbjecﬁve&,oﬂpmject cra?sn'mg‘?'
;'u)'_.,« ‘Discuss the conieept of"ﬂummy Activity, 2.5
i ‘Di i;h'd By Beb een A 2.5
m) swss e 1feren e;m' an, ctivity and an Event, e

Q.4 Attempt an;.r two quesu-::ms o LT N
a) A dqpartrtlent store wuh a bakery sectmn is faced with the problem of how many cakes to

buy orqier to:meet the day s deémand: The departmental store prefers not to sell day-old-

" caKes. Leftover-cikes are therefore» a complete loss, On the other hand, if a customer
SRS das:res cake but-all'of them have been sold, he will buy elsewhere and the sales will be lost.
T SR The store haﬁtheraﬂ:-re coﬂacted mformalmn on the past sales based on 100 day period as

s ___;qshw}n in‘the table heio‘w

a_,[es {’umjg] 4t \ : 25.- 26 27 28
S50 F’pbbabiiliy 0;2 0.4 0.3 0.1
T A ;_5\ tonstguct the contigt:onal Pay-off (profit) table, 2.5
T g u}ﬁﬁl@ﬂla‘f@ Equc!eﬂ Pay-off (profit) using EMV method and suggest best course of 03
e R dCHOM N

. ~ What is the: oﬁumal number of cakes that should be bought )
-~ Rs107-:and sells for Rs.15/- ght each day? A cake costs

S :11) Cajculatg the Expected Value with Perfect Information, (EVPI) 02

:’-

: ‘---.I--::,'_-' :.. e 3 PEBESO‘fE

EBOC22D99B5ICIBICEEN466F0 I4E9E34
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4
Q.5 There mﬁ -Wm'éjmnsas
and hﬂ uqit‘ambﬂmhmt ﬂtﬁ:ﬁ
The follow 1,‘_. able shows

WA s :#'*“ ! S Supply
o ~ L Le ] 17
T - | 5 |
12 @ 5 = ——
|\ @ - R
9 | B
A bk fi

a.r, Cﬂdl L HT 5 R ‘

[ i eeunig e i 'l[r o
i A0 o thronugh e um:hm‘n[‘u P

) ‘There ave 7 diterent produets inoa machilne shop:
machines | and 2 are given below, Waoh of the produeta i
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NORMAL DISTRIBUTION TABLE

Area Under Standard Normal Distribution
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